

BID TABULATION

			W. G. LAND COMPANY, LLC 2023 COUNTY LINE ROAD CHAMPION, PA 15622 412-601-1079		DUN RITE CONSTRUCTION & PAVING, LLC 1383 HOWES RUN ROAD TARENTUM, PA 15084		C.H.&D. ENTERPRISES, INC. 100 BRADY PLACE NEW STANTON, PA 15672 724-925-9832		J5 CONSTRUCTION 11 MINGO CREEK ROAD EIGHTY-FOUR, PA 15330 724-350-6272		
ITEM	DESCRIPTION	UNIT OF MEASURE	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
1	Mobilization and Project Management	LS	1	\$33,000.00	\$33,000.00	\$18,000.00	\$18,000.00	\$25,958.00	\$25,958.00	\$35,000.00	\$35,000.00
2	Site Grading	CY	100	\$60.00	\$6,000.00	\$75.00	\$7,500.00	\$72.20	\$7,220.00	\$15.00	\$1,500.00
3	Basketball Equipment Removal	LS	1	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$875.00	\$875.00	\$20,000.00	\$20,000.00
4	Seeding and Mulching	SY	225	\$4.50	\$1,012.50	\$8.00	\$1,800.00	\$9.24	\$2,079.00	\$3.00	\$675.00
5	Compost Filter Sock	LF	340	\$11.00	\$3,740.00	\$8.00	\$2,720.00	\$7.82	\$2,658.80	\$5.00	\$1,700.00
6	Stabilized Construction Entrance	EA	1	\$3,700.00	\$3,700.00	\$2,500.00	\$2,500.00	\$4,865.80	\$4,865.80	\$15,000.00	\$15,000.00
7	Concrete Washout	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$955.70	\$955.70	\$5,000.00	\$5,000.00
8	Tree Protection	EA	3	\$200.00	\$600.00	\$500.00	\$1,500.00	\$975.00	\$2,925.00	\$5,000.00	\$15,000.00
9	Topsoil Stockpile	LS	1	\$2,200.00	\$2,200.00	\$3,500.00	\$3,500.00	\$2,587.00	\$2,587.00	\$400.00	\$400.00
10	Concrete Pavement	SY	270	\$133.00	\$35,910.00	\$148.50	\$40,095.00	\$177.39	\$47,895.30	\$220.00	\$59,400.00
11	8' Chain Link Fence	LF	231	\$130.00	\$30,030.00	\$135.00	\$31,185.00	\$119.45	\$27,592.95	\$60.00	\$13,860.00
12	4' Chain Link Fence	LF	108	\$78.00	\$8,424.00	\$135.00	\$14,580.00	\$118.15	\$12,760.20	\$45.00	\$4,860.00
13	Chain Link Fence (Top of Wall)	LF	96	\$145.00	\$13,920.00	\$120.00	\$11,520.00	\$115.00	\$11,040.00	\$85.00	\$8,160.00
14	4' Pedestrian Gate (8' Height)	EA	2	\$850.00	\$1,700.00	\$3,500.00	\$7,000.00	\$2,978.50	\$5,957.00	\$700.00	\$1,400.00
15	6' Maintenance Gate (8' Height)	EA	2	\$900.00	\$1,800.00	\$3,500.00	\$7,000.00	\$4,562.05	\$9,124.10	\$2,500.00	\$5,000.00
16	Pickleball Court Equipment (Per Court)	EA	3	\$3,600.00	\$10,800.00	\$1,500.00	\$4,500.00	\$2,826.24	\$8,478.72	\$3,000.00	\$9,000.00
17	Court Repair for Basketball Court	LS	1	\$6,000.00	\$6,000.00	\$33,000.00	\$33,000.00	\$4,429.22	\$4,429.22	\$40,000.00	\$40,000.00
18	Basketball Equipment (Post, Backboard, Rim, Net)	EA	2	\$2,750.00	\$5,500.00	\$4,000.00	\$8,000.00	\$3,324.41	\$6,648.82	\$3,000.00	\$6,000.00
19	9.5 mm Wearing Course	SY	1,058	\$14.00	\$14,812.00	\$16.68	\$17,647.44	\$18.15	\$19,202.70	\$40.00	\$42,320.00
20	19 mm Binder Course	SY	1,058	\$22.00	\$23,276.00	\$19.89	\$21,043.62	\$27.17	\$28,745.86	\$40.00	\$42,320.00
21	Pavement Milling Base	SY	723	\$9.00	\$6,507.00	\$15.00	\$10,845.00	\$18.95	\$13,700.85	\$25.00	\$18,075.00
22	2A Aggregate Base Course	SY	335	\$17.00	\$5,695.00	\$16.00	\$5,360.00	\$18.95	\$6,348.25	\$15.00	\$5,025.00
23	Class 4 Type B Geotextile	SY	335	\$5.00	\$1,675.00	\$4.75	\$1,591.25	\$3.77	\$1,262.95	\$2.00	\$670.00



BID TABULATION

			W. G. LAND COMPANY, LLC 2023 COUNTY LINE ROAD CHAMPION, PA 15622 412-601-1079		DUN RITE CONSTRUCTION & PAVING, LLC 1383 HOWES RUN ROAD TARENTUM, PA 15084		C.H.&D. ENTERPRISES, INC. 100 BRADY PLACE NEW STANTON, PA 15672 724-925-9832		J5 CONSTRUCTION 11 MINGO CREEK ROAD EIGHTY-FOUR, PA 15330 724-350-6272		
ITEM	DESCRIPTION	UNIT OF MEASURE	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
24	Wheel Stop	EA	6	\$200.00	\$1,200.00	\$200.00	\$1,200.00	\$308.17	\$1,849.02	\$500.00	\$3,000.00
25	Pavement Markings and Striping	LS	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$5,750.00	\$5,750.00	\$5,000.00	\$5,000.00
26	Color Coat	LS	1	\$47,000.00	\$47,000.00	\$45,000.00	\$45,000.00	\$44,063.40	\$44,063.40	\$40,000.00	\$40,000.00
27	Court Line Striping	LS	1	\$3,300.00	\$3,300.00	\$10,000.00	\$10,000.00	\$4,236.60	\$4,236.60	\$7,500.00	\$7,500.00
28	4" PVC Sanitary Sewer Lateral	LF	25	\$60.00	\$1,500.00	\$200.00	\$5,000.00	\$222.41	\$5,560.25	\$300.00	\$7,500.00
29	Relocate Storm Inlet	EA	1	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	\$3,831.35	\$3,831.35	\$2,000.00	\$2,000.00
30	Electrical Work	LS	1	\$6,300.00	\$6,300.00	\$5,000.00	\$5,000.00	\$15,093.75	\$15,093.75	\$5,000.00	\$5,000.00
31	Lighting Fixture Installation	EA	2	\$3,500.00	\$7,000.00	\$150.00	\$300.00	\$3,924.38	\$7,848.76	\$5,000.00	\$10,000.00
32	1.5" PVC Pipe	LF	40	\$12.00	\$480.00	\$75.00	\$3,000.00	\$139.75	\$5,590.00	\$35.00	\$1,400.00
33	Water Fittings	LS	1	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$4,429.22	\$4,429.22	\$1,500.00	\$1,500.00
34	Pressure Testing	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$4,429.22	\$4,429.22	\$1,000.00	\$1,000.00
35	Disinfection	LS	1	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$3,758.00	\$3,758.00	\$1,000.00	\$1,000.00
36	Restroom Installation and Utility Connections	LS	1	\$7,000.00	\$7,000.00	\$30,000.00	\$30,000.00	\$33,156.00	\$33,156.00	\$5,000.00	\$5,000.00
	TOTAL OF ALL UNIT PRICE BID ITEMS				\$303,131.50		\$366,887.31		\$392,906.79		\$440,265.00

I DO HEREBY CERTIFY THAT THIS IS A TRUE AND CORRECT TABULATION OF BIDS RECEIVED ON MAY 3, 2023

ANNA T. HATTEN, RLA, LEED, AP BD+C TEAM LEADER | PLANNING & DESIGN



PLUM BOROUGH RENTON PARK PHASE 3 IMPROVEMENTS MAY 3, 2023 @ 11:00 A.M.

BID TABULATION

BIDDER	TOTAL BID				
W. G. Land Company, LLC	\$303,131.50				
Dun Rite Construction Company	\$366,887.31				
C.H. & D. Enterprises, Inc.	\$392,906.79				
j5 Construction	\$440,265.00				



BID TABULATION

	ADDI ACKNOV	ENDA Vledged	I ATTACHMENTS I I					
BIDDER	L #	#5	BID SECURITY	NON-COLLUSION AFFIDAVIT	EEO CERTIFICATION	PW WORKS EMPLOYMENT VERIFICATION	NONDISCRIMINATION/S EXUAL HARASSMENT CLAUSE	TOTAL BID
W. G. Land Company, LLC	Х	NA	Х	Χ	Х	Х	X	\$303,131.50
Dun Rite Construction Company	Х	NA	Х	Χ	Х	Χ	Χ	\$366,887.31
C.H. & D. Enterprises, Inc.	Х	NA	Х	Χ	Х	Х	X	\$392,906.79
j5 Construction	Х	NA	Χ	Χ	Х	Χ	Χ	\$440,265.00